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1(0045253) B How many centimetres isinaninch? (A) 254 (B) 2.54 (C)
0.254 (D) 0.0254
1#wedE> 3520092 (A)254 (B) 254 (C)0.254 (D)
0.0254

2(0045497) A | Simplify 3x-2xy-3y+5xy-2x+2y. (A) x+3xy-y (B) 5x+3xy-y (C)
X-3xy+y (D) x-3xy
i iv 3x-2xy-3y+5xy-2x+2y. (A) x+3xy-y (B) 5x+3xy-y (C) x-
3xy+y (D) x-3xy

3(0045144) A | What is the answer of linear equation 2x+1=x+5 (A) 4 (B) 0 (C) 2

(D) 3

fR— - &2 A58 2x+1=x+5 (A) 4 (B)0(C)2 (D) 3

4(0045345) C | Atriangle has internal angles 67° and 48°. The third angle is ? (A)
115° (B) 75° (C) 65° (D) 60°
- Bz 4253 67°f48°a p & > Bl =p & 5 2 (A) 115° (B)
75° (C) 65° (D) 60°

5(0045538) A | What type of equation is y=x"2 +9x + 14 ? (A) Quadratic (B)

Circular (C) Exponential (D) Line

y=x"2+9x+14 chimfa %8 2 (A) = &3 425% (B) F17; (C)
ip#k (D) I




